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Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in Assam
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||Exam Venue : iON Digital Zone iDZ 2 Mathura Road
[Exam Time : 0:00 AM - 10:30 AM

[Exam Date : 13/02/2019

Section : General Section

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.

Mouse : Rodent : : Bee : ?

Ans X' 1. Drone
v 2 Insect
/< 3. Reptile
X 4 Bird

Question ID : 9895802702
Chosen Option: 1

Q.2 Seven friends O. P. Q. R, S, T and U are watching a movie sitting in a row. 8 is sitting at one extreme end. Q is sitting
second to the right of S. P is sitting between O and Q. U is not sitting at any extreme end. R is sifting to the left of T.
Who is sitting in the middle?

As X 1R
X 2
o 3
X 4

e =8

Question ID : 9895802707
Chosen Option : 3

Q3 Gelect the Venn diagram that best represents the given set of classes:

Udaipur, Rajasthan. India

Ans
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Question ID : 9895802723
Chosen Option : 4

Q4 Choose the option that would follow next in the given figure series.

R &)

Ans

58

Question ID : 9895802718
Chosen Option : 4
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Q.5 Select the option that will correctly replace the question mark (?) in the series.

4, 16, 28. 40,7
Ans ?(1. 60
v 2 52
X 3 51
X 4 56

Question ID : 9895802712
Chosen Option : 2

Q.6 A square transparent sheet with a pattern is given. How will the pattern appear when the transparent sheet is folded
along the dotted line?

=
st

Ans

x 1 LIEX

x o IAX

e LLLL Ll

v X

B

<. et

Question ID : 9895802722
Chosen Option : 4

Q.7 sSelect a figure from amongst the four alternatives that when placed in the blank space (?) of figure X will complete the
pattern. (Rotation is not allowed).

Ans

X3 B\
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Question ID : 9895802719
Chosen Option : 2

Q.8 select the option that is related to the third number in the same way as the second number is related to the first number.

11225214

Ans X1 169
2 324
X3 144
X 4 225

Question ID : 9895802714
Chosen Option: 4

Q.9 Choose the option in which the figure marked ‘X’ is embedded. (Rotation is not allowed)

Ans

Question ID : 9895802720
Chosen Option : 4

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.

0

Unhappy : Sad : : Speak : ?
Ans  of 1. Shout
X 2 Desire
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X3 Ask
/< 4 Listen

Question ID : 9895802703
Chosen Option : 1

Q.1 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
1 s true. even if it appears at variance with generally established facts, decide which conclusion (s) logically and
definitely follow (s) from the information given in the statements.

Statements:
1) All hens are lions.

2) All lions are cats.

Conclusion
L All cats are hens.
It Some cats are hens.

Ans 1. Only conclusion I follows.
' 2. Only conclusion II follows.

/< 3. Either conclusion I or conclusion II follows.
/< 4 Both conclusions follow.

Question ID : 9895802710
Chosen Option : 2

Q.1 In a certain code, SCIENTIST is written as TSITNEISC. How will GOLDSMITH be written in that code?
2

Ans 1. HTIMSDLOG
# 2 HTISMDLGO
v 3 HTIMSDLGO
# 4 HITMSDLOG

Question ID : 9895802705
Chosen Option: 1

Q.1 Choose the option that most closely resembles the mirror image of the given word when mirror is placed at right side.

3

CAPSIZE

An
" X 3712990

X 2 3Z12dAD
« 2 3sI29A0
X 4 EZI2dAD

Question ID : 9895802721
Chosen Option: 3
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041 Select the option that will correctly replace the question mark (?) in the given pattern.

13 | 22

12

117

-J

132

11

Ans X' 1. 117
v 2 154
X 3165
X 4 119

Question ID : 9895802716
Chosen Option : 2

OJY, MLW, KNU, IPS.?
Ans  of 1. GRQ

X 2. GRP

& 3. GPO

X 4 GRR

Q; Select the option that will correctly replace the question mark (?) in the series.

Question ID : 9895802699
Chosen Option : 1

Ans (1 D
X2F
X3 B
X4 A

Q.1 Eight friends A, B, C, D. E, F. G and H are sitting around a circular table facing each other for a lunch. A is opposite F
6  and third to the right of B. G is between F and D. H is to the left of D. E is between C and A. Who is sitting opposite C?

Question ID : 9895802708
Chosen Option: 1

Ans }(1. MIF
X 2 RGC
v 3 DPR
X 4 EFQ

051 Choose the odd one out of the given options.

Question ID : 9895802700
Chosen Option : 3
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Q.1 L KL.M. N and O are six teachers. Each one teaches a different subject out of Hindi, English, Math, Science, Social
8  Science and Arts, not necessarily in the same order. Each of them teaches on only one day, from Monday to Saturday,
not necessarily in the same order. J teaches Arts on Saturday. L teaches neither English nor Social Science, but he
teaches on Thursday. Wednesday is reserved for Maths taught by K. O teaches Science a day before N. Social Science is
taught a day before Arts. Which subject is taught by N?

Ans ?(T Arts
/< 2. Hindi
« 3. English

/< 4 Science

Question ID : 9895802709
Chosen Option : 3

Qé1 Select the option that will correctly replace the question mark (?) in the series.

9. 10, 18, 45,2

Ans X 1,107
X 2 111
v 3 109
X 4110

Question ID : 9895802713
Chosen Option: 3

062 Find out the two signs to be interchanged to make the following equation correct.

13+26x2-5+3=11
Ans X1 . gnd -

W 2 xand +

X 3 +and-

X 4 - and x

Question ID : 9895802717
Chosen Option : 2

L v av Bweat F ¥ 3T T TTT
Ans XL aﬁﬂ

X 2. 3ETh

< 3. 3Tel

v ¢ TATEY

Question ID : 9895802701
Chosen Option : 4
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Q.2 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
2 s true, even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely
follow(s) from the information given in the statements.

Statements:
1) Some men are insects.

2) Some larvae are insects.

Conclusion
L Some insects are larvae.
It Some insects are men.

Ans % 1. Only conclusion I follows.

v 2. Both conclusions follow.
/< 3. Only conclusion II follows.

/< 4. Neither conclusion I nor conclusion II follows.

Question ID : 9895802711
Chosen Option : 2

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.

3
BAC.GFH::LEM:7
Ans X 1. QRP
2 QPR
/< 3. QOP
X 4. QPO

Question ID : 9895802704
Chosen Option : 2

@2 Choose the odd number out of the given options.

Ans X 1. 109
v 2 561
X 3 127
X 4307

Question ID : 9895802715
Chosen Option: 2

052 In a certain code, REFUSE is written as 74. How will KIDNAP be written in that code?

Ans ?(T 50
2 55
X3 54
X 4 57
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Question ID : 9895802706
Chosen Option : 2

062 Which of the following festivals is associated with the *Vaman’ incarnation of Vishnu?

Ans 1. Kumbha
/< 2. Bihu
\f3- Onam

/< 4 JTanmashtami

Question ID : 9895802551
Chosen Option : 4

Qf As of February 2019, who is the current Vice-Chairman of Niti Aayog?
Ans 1. Shaktikanta Das

+ 2. Rajiv Kumar

# 3 Shakti Sinha

/5 4 Urjit Patel

Question ID : 9895802554
Chosen Option: 2

Qéz The Indian constitution declares India as:

Ans X 1. a Federation of States
/ 2. a Confederation of States
' 3. a Union of States
& 4 a Association of States

Question ID : 9895802560
Chosen Option : 3

Qéz Which of the following is NOT a determinant of the patterns of drainage system?
Ans X 1. Climatic conditions of the area

« 2. Source of the drainage system

/< 3. Underlying rock structure

/< 4. Slope of the land

Question ID : 9895802570
Chosen Option : 2

93 In the context of Sufi tradition, the term *khanqgah’ stood for:

Ans 1. the Hell
/< 2. a graveyard
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+ 3. a hospice
< 4 the Heaven

Question ID : 9895802572
Chosen Option : 3

@3 Which of the following is NOT true about nuclear fusion?

Ans ¢ 1. It produces much more energy than nuclear fission.

« 2. The process is used for making nuclear bomb.
X 3

Electricity production through this process is commercially less viable than nuclear fission.

/< 4 It is the source of energy in the stars.

Question ID : 9895802565
Chosen Option : 3

@3 Which of the following pair is NOT correctly matched?
Ans o 1. Magnesium hydroxide — MgOH>

/< 2. Sulphuric acid - H>SOy4

/< 3. Ammonium hydroxide — NH4OH

Z< 4. Nitric acid — HNO;y

Question ID : 9895802567
Chosen Option : 3

Qé3 Which of the following money transfer systems allows 24x7x365 transfer of money?

Ans “1. IMPS
/< 2. Cheque
X 3. NEFT
X 4 RTGS

Question ID : 9895802558
Chosen Option: 1

@3 Which of the following is NOT an artificial ecosystem?
Ans < 1. Reservoir of a dam
/< 2. Paddy-field

\f 3. Forest
/< 4 Garden

Question ID : 9895802564
Chosen Option : 3
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053 Which of the followings has been dubbed as *India's maiden human spaceflight programme’?
Ans X 1. Mangalyaan — II

+ 2. Gaganyaan

/< 3. Chandrayaan — II

X 4 Adityal — 1

Question ID : 9895802555
Chosen Option : 4

@3 Which of the followings was NOT a Harappan city?

Ans X 1. 1 othal
/< 2. Dholavira
« 3. Mehrgarh

/< 4 Sotkakoh

Question ID : 9895802573
Chosen Option : 1

Q3 was awarded the Noble Peace Prize 2018.

Ans o 1. Nadia Murad
/< 2. Kazuo Ishiguro

/< 3. James P. Allison
/< 4 Donna Strickland

Question ID : 9895802556
Chosen Option : 1

Q.3 Which Indian cricketer topped the MRF Tyres ICC Test Player Rankings at the year-end after 20187
8

Ans  of 1. Virat Kohli
X 2. Ajinkya Rahane
/< 3. Cheteshwar Pujara
/< 4. Ravindra Jadeja

Question ID : 9895802553
Chosen Option : 1

%3 Which of the following turns Blue litmus Red?

Ans  of 1. Vinegar

/< 2. Lime Water
/< 3. Baking Soda

< 4 Milk
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Question ID : 9895802566
Chosen Option : 4

@4 Bhimbetka, a world heritage site, is known for:
Ans X 1. Ashokan Pillar

' 2. prehistoric rock shelters

/< 3. monolithic temples

/< 4 Buddhist stupas

Question ID : 9895802549
Chosen Option: 3

°1'4 Which of the following statements is NOT correct about myopia?

Ans X 1. The vision may be corrected with the help of concave lens.

/< 2. It is also known as near sightedness.

v

In the affected eve, the image of a distant object is formed beyond the retina.

/< 4. The person affected by it cannot see beyond few metres.

Question ID : 9895802563
Chosen Option: 3

@4 What is ‘Bringa’ in Orissa?

Ans X 1. A village known for diamond mines

/< 2. A stone weapon used by the aboriginals
/< 3. An edible oil used by the aboriginals

+ 4 A local name of *slash and burn’ agriculture

Question ID : 9895802568
Chosen Option : 4

Qé4 Which of the following options is also termed as the third-tier of democracy in India?

Ans 1. State government
/< 2. Union Territory governments
« 3. Local-self government

/< 4. Supreme Court

Question ID : 9895802561
Chosen Option : 3

0;14 Which of the following rulers built the mosque called *Adhai-din-ka-JThonpra™?

Ans
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< 2. Abraham I odi

& 3. Itutmish

+ 4 Qutub-ud-Din-Aibak
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Question ID : 9895802550
Chosen Option : 4

A
" X1 ggth amendment
X 2. goth amendment

X 3. g7t amendment

v 4 g6t amendment

Qé4 Which of the following constitutional amendments provided for the Right to Education?

Question ID : 9895802562
Chosen Option : 4

6

Ans Jy RBI
X 2 TRAI
X 3. NABARD
X 4 IRDA

Q.4 Which of the following institutions is responsible for regulating the formal sources of credit in India?

Question ID : 9895802559
Chosen Option : 1

7
Ans X 1. JSW Sports

/< 2. Isha Outreach
/< 3. Rashtriva Ispat Nigam Limited

+ 4 Guru Nanak Dev University

Q.4 Which of the following organizations received the Maulana Abul Kalam Azad (MAKA) Trophy 2017-187

Question ID : 9895802552
Chosen Option: 1

@# The Economic Survey of India is published by:
Ans X 1. Department of Financial Services

« 2. Department of Economic Affairs

/< 3. Department of Revenue

/< 4. Department of Public Expenditure

|
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l Chosen Option : 2 J

%4 During British rule in India, ‘gomastha’ was:

Ans Jy

a paid servant to supervise weavers, collect supplies, and examine the quality of cloth
/< 2. an Indian soldier appointed as the in-charge of a cavalry
/< 3. avillage-level official in the revenue-department

/< 4 an Indian official in the intelligence department

Question ID : 9895802571
Chosen Option : 3

065 Which of the following rivers forms the famous Dhuadhar falls?

Ans  of 1. Narmada
2 Kali Sind
#< 3. Chambal
/%< 4 Tapi

Question ID : 9895802569
Chosen Option : 3

Q.5 A sum of 8250 gives simple interest of ¥ 2475 in 5 years. What will be the rate of interest per annum?
1

Ans X 1. 7.5%
X 2 8%
v 3 6%
X 4 10%

Question ID : 9895804347
Chosen Option : 3

Q.5 The bar chart given below shows the total exports (in ¥ 1000 crores) of a country for 7 consecutive years Y1, Y2, Y3,
2 Y4, Y5 Y6and Y7.
1200 4300 L
ailiil
it
¥1 Y2 Y3 Y4 Y5 Yé YR

‘What is the average exports from years Y1 to Y77

Ans X1 931.45
< 2 886.19
W 3 964.28
X 4 847.87

Question ID : 9895804357
Chosen Option: 3

Q.5 The volume of aright circular cone is equal to the volume of that right circular cylinder whose height is 27 cm and
3 diameter of its base is 30 cm. If the height of the cone is 25 cm, then what will be the diameter of its base?

Ans 1. 24 cm
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v 2 54cm
X3 27cm
< 4 35¢cm

Question ID : 9895804353
Chosen Option : 3

Q.5 Out of 100 articles, 25 articles were sold at 25% profit and the remaining articles were sold at 25% loss. What will be
4 the total loss percentage?

Ans Xl 15
W2 125
X3 20
X 410

Question ID : 9895804343
Chosen Option : 2

Q.5 40 mechanics can repair a bike in 56 days. In how many days 32 mechanics will do the same work?
5

Ans 1. 60 days
/< 2. 56 days
/< 3. 80 days
W 4 70 days

Question ID : 9895804350
Chosen Option : 4

065 The average of 23, 27, 29, 36, 47 and x is 35. What is the value of x?

Ans X 1. 45
X2 52
W 3 48
X 4 39

Question ID : 9895804338
Chosen Option : 3

Q.5 Tap K can fill a tank in 8 hours and tap L can fill the same tank in 20 hours. In how many hours both tap K and L
7 together can fill the same tank?

Ans X 1. 20/3 hours
& 2 60/11 hours
& 3. 18/5 hours
V' 4 40/7 hours

Question ID : 9895804349
Chosen Option : 4

Q.5
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8  Selling price of first article is T 960 and cost price of second article is ¥ 960. If there is a profit of 20% on first article
and loss of 20% on second article, then. what will be the total loss?

Ans - K1 % 36
X2 %24
<3 %20
v Z32

Question ID : 9895804342
Chosen Option : 4

Q.5 Neeraj covers two distances of 10 km and 20 km in 1 hour and 5 hours respectively. What will be the average speed of
9 Neeraj for the whole journey?

Ans 1. 4 km/hr
X 2 7 km/r
v 3 5 km/hr
X 4 6 km/hr

Question ID : 9895804351
Chosen Option : 2

Q.6 The pie chart given below shows the annual snowfall received by 7 states of a country. The snowfall is shown as a
0 percentage of total anmal snowfall of the country.
s1 |
57 8%

25% s2
15%

S6
14%

55 s4
12% 6%

If the annual snowfall received by the country is 700 cm. What is the difference in the annual snowfalls of 53 and 527

Ans X 1. 42 cm

X2 7em
/< 3. Cannot be determined
v 4 35¢em

Question ID : 9895804356
Chosen Option : 4

Q6 . BY
1 What is the value of(lﬂm+lof3§xgof;_5)?
3

Ans XN\ 121
o 2123
X 3122
X 4126

Question ID : 9895804335
Chosen Option : 4

Q.6 A motorcycle is moving at the speed of 25 km/hr and its speed is increased by 7 kan/hr at the end of each hour. How
2 much time it will take to cover a distance of 225 km?
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Ans  of 1. 11/2 hr
X2 Thr
X 3 132 hr
X 4 6hr

Question ID : 9895804352
Chosen Option : 1

% What is the mode of the given data?

2} W 1. W 97 B G0 W0 s 129 W . Wl 1 |« W
ans of 1. 23

X221

X322

X4 24

Question ID : 9895804340
Chosen Option : 2

Q.6 A sum of T 10500 becomes ¥ 17745 in 2 years at the rate of compound interest. If the interest is compounded annually,
4 then what will be the rate of interest?

Ans X 1. 40%
v 2 30%
X 3 25%
X 4 20%

Question ID : 9895804348
Chosen Option : 2

Q.6 The average monthly salary of 30 employees and 5 managers is T 80000. One manager with salary ¥ 180000 is
5 replaced by a new manager. If the average monthly salary now becomes ¥ 78300, then what is the monthly salary of the

new manager?

Ans X 1. T 142500
& 2. 132000
v 3 127500
< 4 % 154500

Question ID : 9895804337
Chosen Option: 1

Q.6 Height of a right circular cone is 8 cm. If diameter of its base is 12 cm, then what will be the curved surface area of the

6 cone?

Ans X 1 1056/7 cm?
v 2 1320/7 em?
23 1440/7 em?
X 4 2112/7 em?
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Question ID : 9895804354
Chosen Option: 2

Q.6 The ratio of the areas of two triangles is 1 : 2 and the ratio of their bases is 3 : 4. What will be the ratio of their height?
7

Ans X 1.1:3
K 24:3
X3 2:1
vi2:3

Question ID : 9895804355
Chosen Option : 4

Q.6 A bag has ¥ 840 in the denomination of ¥ 1, ¥ 2 and ¥ 5 coins. ¥ 1. ¥ 2 and ¥ 5 coins are in the ratio of 8 : 1 : 5. How
8 many coins of ¥ 5 are in the bag?

Ans x 1. 60
X2 24
2 3600
v 4 120

Question ID : 9895804345
Chosen Option : 4

Q.6

9 Whatisthevaluenf{l]+4—§0f§+11]?
Ans of 113

X211

X3 15

X417

Question ID : 9895804336
Chosen Option: 1

Q.7 The Least Common Multiple and Highest common Factor of two numbers are 30 and 5 respectively. If their sum is 25,
0 then what will be the difference of these two numbers?

Ans Xl 15
<210
X 3.25
s

Question ID : 9895804334
Chosen Option : 4

Q.7 A shopkeeper sells a cooler at a discount of 15%. If he gives a discount of 19%, then he earns ¥ 332 less. What will be
1 the marked price of the cooler?

Ans X 1. F 8100
v 2. 78300
X 3. T 8700
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X 4 T 8200

Question ID : 9895804339
Chosen Option : 2

Q.7 The bar chart given below shows the total exports (in ¥ 1000 crores) of a country for 7 consecutive years Y1, Y2, Y3,
2 v4, Y5 Y6and Y7.

100
oo 1200 00
750 e
1 I I I
¥IOYD YR Ys Y5 Y6 Y7

‘What is the ratio of the exports of year with lowest exports and the year with second highest exports?
Ans XK 1.9:12
V2 5:12
X<3.9:13
X4 5:11

Question ID : 9895804358
Chosen Option: 2

°é7 If X is 80% more than ¥, then ¥ is how much percentage less than X7

Ans X 1. 61.33%
X 2 80%
< 3 33.33%
W 4 44.44%

Question ID : 9895804341
Chosen Option : 4

Q.7 P.QandR invest sum in the ratio of 7 : 4 : 9 respectively. If they earned total profit of ¥ 6680 at the end of vear, then
4 what is the total share of P and Q together?

Ans X 1. 3 4868
X 2 T4254
X3 4124
v 4 T 3674

Question ID : 9895804346
Chosen Option : 4

Q.7 K. L and Minvest sum in the ratio of 15 : 20 : 27 respectively. If they earned total profit of ¥ 10230 at the end of year,
5  then what is the difference between share of K and L?

Ans X 1. T 1155
<2 %1275
< 3. %1980
v 4 %825

Question ID : 9895804344
Chosen Option : 4
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Section : English Language

Q.1 Select the most appropriate meaning of the underlined idiom in the given sentence.

My views are totally in harmony with my brother’s views.
Ans X 1. according to
X 2 in favor of
< 3. different from

' 4 in agreement with

Question ID : 9895804238
Chosen Option : 4

Q2 Select the most appropriate ANTONYM of the given word.

ATTRACTED
Ans  f 1. Repelled

/< 2. Enchanted
/< 3 Transformed

/< 4 Disturbed

Question ID : 9895804236
Chosen Option: 1

@3 Select the most appropriate word to fill in the blank.

My sister a cat and brought it home.

Ans X' 1. assumed

/< 2. adapted
+ 2 adopted

/< 4 approved

Question ID : 9895804244
Chosen Option : 3

Q.4 select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

The sound of the sea waves became gradually weaker over the time.
Ans X 1. sounds of the sea wave
< 2. sound from sea waves

+ 3. No improvement

/< 4 sound with the sea waves

Question ID : 9895804252
Chosen Option : 3
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Q.5 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

Sivagami longed to touch the chisel but her grandfather chase her away.

Ans 1. chased it away
« 2. chased her away
/< 3. No improvement

/< 4. had chased them away

Question ID : 9895804251
Chosen Option : 2

Q.6 Identify the segment in the sentence which contains the grammatical error from the given options.

T'm sorry, but T don’t agree with which you just said.

Ans X 1. I'm sorry
' 2. with which
/< 3. just said
/< 4 don’t agree

Question ID : 9895804247
Chosen Option : 2

Q7 Select the most appropriate synonym of the given word.

THRIVE
Ans o 1. Prosper

/< 2. Promote
/< 3. Foster
/< 4. Progress

Question ID : 9895804233
Chosen Option: 3

Q8 Select the word which means the same as the group of words given.

An act that makes you feel morally bad or ashamed.
Ans X 1. Displeased

< 2 Trrational
« 3 Disgraceful
/< 4. Ignorant

Question ID : 9895804242
Chosen Option : 3

Q.9
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Select the most appropriate meaning of the given idiom.

Bone of contention
Ans < 1. A cause of failure
& 2. A matter of contentment
/< 3. A highly irritable person
« 4 A subject of dispute

Question ID : 9895804237
Chosen Option : 4

Q61 Fill in the blanks with the most appropriate words.

Once the mother duck jumped ~ the pond. the ducklings followed suit.
Ans X 1. over
X 2 in
< 3. under
v 4 into

Question ID : 9895804248
Chosen Option : 4

°1'1 Select the correctly spelt word.

Ans o 1. Thoroughfare
/< 2. Thoroughfair

X 3. Thorowfare
/< 4 Throughfare

Question ID : 9895804240
Chosen Option : 4

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
2 substitute it, select No improvement.

The ticking of the clock was the only sound to hear.

Ans X 1. in hearing
/< 2. No improvement

/5 3. to hear with
« 4 to be heard

Question ID : 9895804250
Chosen Option : 4

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

The trees had lost most of their leaves and their (1) figures
were clear against the grey sky. Bella looked up at them and could
see birds (2) with difficulty, (3) to keep themselves
in place while the wind tried to blow them (4) She was
walking against the wind and trying hard to push herself ahead. She
resisted and strode (5)

SubQuestion No : 13
Q.1 " " ' a . "
, Fillin blank (1) with the most appropriate option.

Ans  of 1. bared
#< 2. dreary
/< 3. parched

< 4 dried

Question ID : 9895804254
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

The trees had lost most of their leaves and their (1) figures
were clear against the grey sky. Bella looked up at them and could
see birds (2) with difficulty, (3) to keep themselves
in place while the wind tried to blow them (4) She was
walking against the wind and trying hard to push herself ahead. She
resisted and strode (5)

SubQuestion No : 14
@' Fill in blank (2) with the most appropriate option.

Ans  of 1. perching
/< 2. punching
/< 3. pouncing
/< 4. parching

Question ID : 9895804255
Chosen Option : 4

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

The trees had lost most of their leaves and their (1) figures
were clear against the grey sky. Bella looked up at them and could
see birds (2) with difficulty, (3) to keep themselves
in place while the wind tried to blow them (4) She was
walking against the wind and trying hard to push herself ahead. She
resisted and strode (5)

SubQuestion No : 15

Q.'I " - . 2 . .
. Fill in blank (3) with the most appropriate option.
Ans  of 1. struggling

/< 2. sleeping
/< 3. sliding

/< 4. surviving

Question ID : 9895804256
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

The trees had lost most of their leaves and their (1) figures
were clear against the grey sky. Bella looked up at them and could
see birds (2) with difficulty, (3) to keep themselves
in place while the wind tried to blow them (4) She was
walking against the wind and trying hard to push herself ahead. She
resisted and strode (5)

SubQuestion No : 16

@1 Fill in blank (4) with the most appropriate option.
Ans X 1. out

o 2. away

<3 up

K 4 aside

Question ID : 9895804257
Chosen Option : 2

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

The trees had lost most of their leaves and their (1) figures
were clear against the grey sky. Bella looked up at them and could
see birds (2) with difficulty, (3) to keep themselves
in place while the wind tried to blow them (4) She was
walking against the wind and trying hard to push herself ahead. She
resisted and strode (5)

SubQuestion No : 17

@1 Fill in blank (5) with the most appropriate option.
Ans  of 1. on

< 2 by

/X 3. up

X 4 in

Question ID : 9895804258
Chosen Option : 2

Q.1 Identify the segment in the sentence which contains the grammatical error from the given options.
8

As far the eve could reach, nothing could be seen except the ruined columns of an old building.

Ans X" 1. could reach

o 2. As far the eve
/X 3. except the
/< 4 nothing could be

Question ID : 9895804246
Chosen Option : 1

°é1 Select the word which means the same as the group of words given.

That which cannot be wrong

Ans X 1. Irrefutable
< 2. Inaccurate
W 3 Infallible
#< 4. Inevitable

Question ID : 9895804241
Chosen Option: 3

062 Select the most appropriate antonym of the given word.

BENEVOLENT

Ans
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# 1. Dull

o 2. Merciless
/< 3. Friendly
/< 4 Injurious

Question ID : 9895804235
Chosen Option : 2

01-2 Select the most appropriate word to fill in the blank.

His success in the competitive examination gave him a major in his career.

Ans X 1. break out
« 2. breakthrough

/< 3. break up
< 4 breakdown

Question ID : 9895804243
Chosen Option : 2

Q.2 Identify the segment in the sentence which contains the grammatical error from the given options.

She always gets the better in quarrels whether it is with girls or boys.

Ans  of 1. better in
/5 2. gets the
X 3 it is with
/5 4 She always

Question ID : 9895804245
Chosen Option: 2

%2 Select the correctly spelt word.
Ans 1. Kindergarden

« 2. Kindergarten

/< 3 Kindargarten

/< 4 Kindergardan

Question ID : 9895804239
Chosen Option: 1

@2 Fill in the blank with the most appropriate option.
__ inthe first attempt, he did not try again.

Ans 1. Being failing

+ 2 Having failed
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/< 3. Being failed
/< 4 Having fail

Question ID : 9895804249
Chosen Option : 2

Qéz Select the most appropriate synonym of the given word.

MORALE

Ans X 1. Appearance
X 2. Attitude
« 3. Self-confidence
/< 4 Reputation

Question ID : 9895804234
Chosen Option : 4

Section : Hindi Language

*! Roa T # o F R Uy g Howwe

a«:l-{#m{mﬁ?rﬂﬂﬁtﬁ g BT gl
Ans X 1. ehraE

X2 g
X 3 ?%ﬁﬁ'

v g@

Question ID : 9895803652
Chosen Option : --

“ R Y F BT @ e 9w
S s Frr T @

Ans ¥1w

X 2. HATYT

X 3 gAY

< 4 T

Question ID : 9895803669
Chosen Option : --

T S T U FT T F1

Ans
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X g
v i
X s fgagea
X 4 gregcd

Question ID : 9895803671
Chosen Option : --

“ ReE T F o F R saEa ae 7 oTed wY

ZTeT S F SEEET &7 gl

SRV AR o
X 2 ged
<3 gy
X4 e

Question ID : 9895803655
Chosen Option : --

B A T # WWifRT @ & vReiRE =1 F B
39ged fa@ed & T3 H|
7 9feer 2@ Tonl A o g
At X zEt g F R g
X2 g gaR 7 B 712
X3 g8 =R # = 7w
v Zol g9 7 B T

Question ID : 9895803650
Chosen Option : --

O¢ Rw AT =g F UTUEET A FT TTT FI

HAG

=

Ans 1 e

v it
X 3 ey
4. afEAToT
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Question ID : 9895803664
Chosen Option : --

Q7 Grfaf@s & ¥ 50 ey & 997 = A ' FC & AeF | FE H HY FT T
X FE F 3T T T Hew
X o

X3 AT
v o BfEg 7 arer

Question ID : 9895803666
Chosen Option : --

¥ R T T F RT T o g

Sl i e
Ans X1 ARt

X 2 AT

PASEA

v o TEmg

=

Question ID : 9895803668
Chosen Option : --

¥ RT T e F REw I

3T
ans  of 1 3T
X 2 greer
X 3 HET
X+ e

Question ID : 9895803663
Chosen Option : --

Comprehension:
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fw av et F Fo e ger v e §) fiw A Reeent
eI ¥ Yad T s 9o de wE & v sugsd feew

FT TTA B

TeT ST F FST HT HTEAT (1) g1 &1 385 79 F
T 3R (2) wr=F @it &1 TemeEy Fr i ag s A
Ear & ofe 3wdr (3) ger 75 A FAT g9 ? 3W
AT oy w| B 3EF T e e I =fEa &
TE & (4) g e ¥ FEcTedr wfde e T
F FIOT FaAT (5) #ET Srer 9raT|

SubQuestion No : 10
© ey F TR Rea e (1) F R swgea
oTeg g9 -

Ans of 1. SoldT
K g
X 3 gATSA
X4 forear

Question ID : 9895803657
Chosen Option : --

Comprehension:

e av aeg=de A Fo oee ger faw 1w B v a1v fawedt #r
e ¥ od Tue s gee #En & v sugEa feew

FT TTT FI

T ST H HIST T HTHAT (1) BT 81 395 &F Fr
ga 3k (2) STea B &1 TouaEr & e 7g s AE
Ear & afe sudr (3) Gger 715 A" T g ? 3W
FAfEw oy ®/ B EEF T e e A afEa &
AT & (4) g A ¥ EcTeEr wfeT e T
F FoT Fafr (5) FET &rer 9ram

SubQuestion No : 11
V' sz & o¥aa REa e (2) F R sagwa
Ireg B -
Ans x1~ ag_lé_
X2 onfy
Vo
X4 sy

[ Question ID : 9895803658 ]
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l Chosen Option : -- J

Comprehension:

e av st A Fo oee ger fav v B fqw arv fawedt #r
e ¥ od Tue s 9% = & v sugEa Reew

FT TTT FI

T ST F HIST T HTAT (1) BT 81 395 &F Fr
@ AR (2) ur~d g §| Wearer @ el ug S Agr
warFafrswhr _ (3) g TR FAT T 2 30
FAfEw oy wWSr B 3Es Ol g e A afEa &
TESH _ (4) O W ¥ OISy e AU T
F FoT Fafr (5) FET &rer 9ram

SubQuestion No : 12
% sz & wHfaa REa e (3) F R sugwa
Ireg BT -
Ans "'#1' ;13-'&
X2 FIEI-TQ'
X3 g
X 4 gTdeT

Question ID : 9895803659
Chosen Option : --

Comprehension:

fow av et F FT e geT fow e §) fow o Rewedt
e ¥ ow e ¥ 9% dE & O sugsa Reew

FT TTT FL

T ST F FST T HTEAT (1) T &1 38 7 &
q@ 3R (2) urea g ¥ Femar &+ w3 ag &7 FEr
Ear & afe sgedr (3) T 7% Ar =T g ? 3W
AAfEeH AT T g1 38 B9la 5 ataw arel kg &
THET & (4) g e & srEcTedr @fET e T
F FROT Fair (5) FET SreT 9Tl

SubQuestion No : 13
G ey F TR R e (4) F B swge
eTeg EIOTT -

Ans o1 =T

X 2 ger@Er
X 3. HATH
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(4.%

Question ID : 9895803660
Chosen Option : --

Comprehension:

e 71w segeoe # $o w= go1 fow w1w B T aw Reedt &
e ¥ aa = s geie Je & v sugsa Reew

FT =TTT FY

e STNUT H HJST T AT (1) S g1 38F A7 T
ga A (2) 9reg g & Feaaer #r FEl ag #7 AT
Ear & afe swdr (3) Ger 1S A AT BET ? W
FAEE aify wWr §1 3w elT s e A afed &
AT H (4) B T ¥ HETEET iR g Hue T
% HROUT Fefl (5) #ET srer 9raT|

SubQuestion No : 14
% Teg & wHfad Nea T (5) F v suged
ereg g -
ans X1 gfe
v ue
X o g
< 4 giear

Question ID : 9895803661
Chosen Option : --

Y T wE # e F R sugea e FowIa

47 & g @ £
Ans x1_ ﬂ'
X2 aE
W 3 T
X4

Question ID : 9895803653
Chosen Option : --

% BT T F R F R saEa aw o w

F 39T OTHT SATaT|
Ans ?(1%11?-|T
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V2 R

X 3 L
X 4 grefr

Question ID : 9895803654
Chosen Option : --

07-1 Frafefae & & 30 ReeT &1 999 FU S ' Jo@n X T 7 @ ' g & o S5ed S g

A s wET a9 e

X 2 Feral ® Ol ger
X 3 geTar HTY SRT =elell
X o T & 3 ToER ACHEHT THA

Question ID : 9895803667
Chosen Option : --

% RT 7T A #1979 7w S S8 IR A
IEAT H 299X o T B T 30T AT gl
gl SN o
X 2 g 39+ T B
X 3 gefr #r
v oarEaE H

Question ID : 9895803646
Chosen Option : --

% R T T w5 9E o i e #S SR
J&T T T ZAR A 1 G99 T F7ET @

Ane X . gER SEd #

X 2 T @l

o 3. o AT BT

X4 Ry T

Question ID : 9895803647
Chosen Option : --

Q.2
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e a7 s # W@ifha @ & sfaruig &= F v

39ged e &1 Tua HY

F& oo 3E» G T A, TF HIAT TIF F&F FT 9T @
e Ko zEar de @ 9,

X238 9e @ 9,

X3 387 9T @ o,

v o3EE 9 w9,

Question ID : 9895803651
Chosen Option : --

Qizﬁﬂ?malﬁa?rﬁ?ﬂﬂﬂﬁl

TIreT

Ans x-]_ ~CIEG]
X 2 orfgrw
X s =g

Rty

Question ID : 9895803662
Chosen Option : --

% wEr TS A Ue W TwT A
Ans x.l' m

v FERR

p mm

X 4 TSR

Question ID : 9895803670
Chosen Option : --

UV R T oreg F THTTETEY oeC T T

CIFG

Ans x-]_ L3P~
X2 ;W

< 3. TR
v ige

r N
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Question ID : 9895803665
Chosen Option : --

042 v aTC e @ Fg 6T W S e 2 IR #
e it A oo # Few 737 3w 77 § B T o aeperEs # A aar g

s o1k R
X 2 FEd 58T AR
v R it #is g 7
X o FfEa amT sgemas H AT Far B

Question ID : 9895803648
Chosen Option : --

Q2 frv o e # Twitea WS F S S § P S T a1
=& HT FUFI HTel I3 2
1 gumd st g S ¥
X 2 FUFE FTeT 9 AT gl
X 3. FUFET FHTeT 9 AT gl
X 4 FUFE FTT IS AT B

Question ID : 9895803649
Chosen Option : --
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